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ENGLISH

MCQs
1. According to the poet "fire" in the poem “ Fire and Ice” refers to--
A.Violent desire B. Passions C.Jealousy D. All of the above
2. Literary device used in” Fire & Ice” is-
A.Oxymoron B. Antithesis C. Irony D. Simile

3. Ice in the poem represents -
A. Desire B. Hatred C. Compassion D. Fury

4.The many symbols the hemlock tree represents, choose the one that Frost
drew upon, in all likelihood
A. longevity B. togetherness C. healing D. protection

5. Identify the option that DOES NOT use the word ‘rue’ correctly.
A. The film was a disaster, and he rued his decision to act in it.

B. I am sure she rued the day she listened to a fortune-teller.

C. It wasn’t long before I rued my disobedience and my deceit.

D. Others finally rue the one who is dishonest and heartless.

6. Synecdoche is a poetic device that uses a part to represent the whole. For
example, that’s a great set of wheels! (Set of wheels has been used for the
car.)

7. Pick an example of synecdoche from the poem.

A. Has given my heart A change of mood

B. The way a crow/Shook down on me

C. The dust of snow/From a hemlock tree

D. And saved some part/Of a day | had rued

8. Why was Lencho not surprised on seeing the money in the envelope?
A. he was too sad to acknowledge it

B. he had unwavering faith in God

C. he was an ungrateful man

D. none of the above

9.0n seeing the letter, the postmaster was moved by Lencho’s
A. unwavering faith B. handwritin C. love for God
D. determination

10.Why did the postmaster decide to reply to Lencho’s letter?
A. he was a good man B. he felt empathetic
C. to preserve Lencho’s faith in God D. all of the above
*Answer the following questions in 40- 50 words.
I.  Mrs. Pumphrey should have been a little harsh towards Tricki in order
to be kind to him.Justify this statement.
Il.  What is the most likely response that the postmaster expected in

Lencho's second letter?




. Explain the irony in Lencho's belief that post office people are a
bunch of crooks.

V. Lencho didn't think of any other option but to turn to God. Do you
think that his approach is justified?

V.  Evaluate the statement, "Privilege often confuses actual needs for
perceived ones” with reference to Mrs Pumphrey. (

VI.  The postmaster was a representative of God".Justify this statement in
the light of the chapter.

VIl. Do you think that Dr. Herriot was a sensible, practical and clever
person? How?
VIIl.  Tricki was more a member of Mrs. Pumphrey’s family than a mere

dog. Explain, giving an example from the text.

IX.  What message does the poet wish to convey through the poem ‘Fire
and ‘Ice’?

X.  What do the ‘Hemlock’ tree and ‘Crow’ represent? What does the dust
of snow metaphorically stand for ?

Answer the following questions in 100-120 words.

1. The people at the post office, under the initiative of the postmaster, decide
to contribute to help Lencho. The postmaster tries to understand Lencho’s
mind, his deep faith in God but at the same time, he would like to tell him the
truth behind the 70 pesos he is going to receive. As the postmaster, write a
letter narrating the whole episode, keeping intact his deep faith in God. You
can begin like this..

Dear Lencho,

| am quite impressed by your deep faith in God that you start a conversation
with him but | would like to tell you that... .. ... ..

2.1f you had been in Lencho's place how would you have faced the situation
and overcome the difficulty you faced. Write a paragraph explaining your
approach.

3. Explain how Robert Frost uses traditionally negative symbols of crow and
hemlock in the poem “Dust of Snow”.

4.Do you think lady like Mrs Pumphrey do really exist in the real world?
What impression do you gather about Mrs. Pumphrey after reading the story?
5.You feel that Right to Education can help our country rise above narrow
boundaries of caste, colour, creed and corruption. Write a letter to the editor
of a national daily reflecting on your views on the subject. Sign yourself as
Bandana/ Bijay of Basant Vihar, New Delhi.

MATH

M.C.Qs
1. If the sum of two numbers is 1215 and their HCF is 81, then the possible number
of pairs of such

numbers are

(A) 2 (B)3 (€4 (D)5
2. LCM of smallest odd composite number and smallest prime number is
(A) 10 (B)6 (€)9 (D) 18
3. A number of the form 8”n, where n is a natural number greater than 1, can't be
divided by,
(A)1 (B) 40 (C) 64 (D) 2”n

4.. If P=2(4)(6) .... (20) and Q = 1(3)(5) .... (19), what is the HCF of P and Q?
(A) 33 x5x7 (B)34 x5 (C) 34x52x7 (D) 33x 52




5. The least number that is divided by all the numbers from 1 to 10 (both inclusive)
is

(A) 10 (B) 100 (C) 504 (D) 2520
6. If a & P are two zeros of a polynomial p(x) = x*2+x-1 than 1/o+1/B equals to
(A)1 (B) 2 () -1 (D) (-1)/2
7. If one zero of the polynomials [(6x)] 22+37x-(k-2) is reciprocal to the other, then
what is the
value of k?
(A) -4 (B) -6 (C) 6 (D) 4

8. The zeros of the polynomial x*2-3x-m(m+3) are
(A) m,m+3 (B)-m,m+3 (C) m,-(m+3) (D)-m,-(m+3)
9. A polynomial whose zeros are factors of ‘p’ where p as a prime number is
(A) K{x"2+(p+1)x-1} (B) K{x"2-(p-1)x-p}
(C) K{x"2-(p+1)x-1} (D) K{x"2-(p+1)x+1}
10. The number of polynomials having zeros as -2 and 5 is
(A) 1 (B) 2 (C) 3 (D) more than 3
SHORT ANSWER TYPE
11. Explain whether the number 3x5x 13 x46 +23 is not a prime number.

12. Prove that 2v3-5 is irrational if V3 is an irrational number.
13. Obtain Zeros of polynomial P(x)=3x"2+5V5 x-10 and verify relation between
zeros and

coefficients.
14. Find a quadratic polynomial whose zeros are (5+V3) and are (5-V3). How many
such

equations can be making with these zeros?

15. If o & P are zeros of the polynomial xA2+x-2 then find value of o/B+B/at .

16. Quadratic polynomial 2x22-3x+1 has zeros as o & [3 . Now form a Quadratic
polynomial
whose zeros are 3ot and 33 .

17. Find a quadratic polynomial, the sum and product of zeros are v2 and (-3)/2.
Also find zeros of the

polynomial.
18. Prove that (V2+V3 ) is an irrational number.
19. Find the greatest number of four digits which is exactly divisible by 15, 24 and
36.
20. Find the largest positive integer that will divide 430 and 398 leaving remainder 5
and 8

respectively
LONG ANSWERED QUESTIONS

21. If ot and B are two zeros of the polynomial P(x)=x"2-k(x+1)-p such that

(o+1)(B+1}=0, find p.
22. Prove that V5 is an irrational number. Using it prove that ( 7-3V5) is also an
irrational number.
23.There is a circular field whose circumference 360 km. Three men by bicycles
revolving around it

with 40, 60 and 72 km per day respectively, if they are starting on same day from
same place, after

how many days they meet at the starting point?
24. Case study Based Question:
A seminar was conducted by the club in-charge of different subjects taking the
students of




different sections of class X of DAV Public School, New Delhi, where the participants
were the
educators of different subjects. The number of participants in Science, English and
Mathematics
are 168, 210 and 126 respectively. The in-charge of each club arranged the students
in such a way
that, in each room there were same number of participants according to their
subject. Observe
the above situation and answer the following question
1. What is the maximum number of participants that can be accommodated in each
room?
2. What is the minimum number of rooms required during the event?
3. Find the LCM of 168, 210 and 126 by prime factorisation method. OR Find the
product of HCF and

LCM of 168, 210 and 126.
25. If p and q are zeroes of the polynomial t2 @ 4t + 3, show that 1/P+ 1/q -2pq
+14/3=0.

SCIENCE

PHYSICS MCQs

1.When an object is kept within the focus of a concave mirror, an enlarged
image is formed behind the mirror. This image is

(a) real

(b) inverted

(c) virtual and inverted

(d) virtual and erect

2. The radius of curvature of a spherical mirror is 20 cm. What is its focal
length?

a. 20m b. 10m ¢.10cm d.40 cm

3. Name the mirror that can give an erect and enlarged image of an object.
a. concave b.convex c.plane d.non of these

SHORT QUESTIONS

1.Suppose that lower half of concave mirrors reflecting surface is covered with an
opaque (non-reflecting) material. What effect will this have on the image of an
object placed in front of the mirror?

2.A concave mirror produces three times magnified (enlarged) real image of the
object placed at 10 cm in front of it. Where is the image located?

3.Write the uses of concave and convex mirror.

Long questions

1.Draw the ray diagram with different position of object formation of image
position and nature for concave mirror (6 position) & convex mirror (2 position).
2.Draw a table for different position of object and formation of image, nature for
both concave and convex mirror

BIOLOGY
1.For showing stomata a leaf peel is obtained from

1. Upper surface ii) Lowersurface iii) Any surface

iv) Whole leaf function as a peel

2.What is true

i) Epidermal cells are large while guard cells are small

ii) Epidermal cells are small while guard cells are large

iii) Both Epidermal and guard cell are of equal size

iv) All the above
3.To set up an experiment to show that light is necessary for photosynthesis, leaves
should be taken from

i) Destarched potted plant




ii) Any potted plant
iii) Any plant
iv) Healthy plant

SHORT QUESTIONS

4.What is common amongst Cuscuta,ticks and Leeches

5.Name the correct substrate for the following enzymes
Trypsin ,Amylase ,Pepsin ,Lipase

6.What would happen if green plants disappear From earth?

7.1s nutrition a necessity for an organism

LONG QUESTIONS

8. All plants give out oxygen during day and carbon dioxide during night .Do you
agree with the statement. Give reason
9. Leaves of a healthy plant were coated with vaseline .Will this plant remain
healthy for long? Give reason for your answer.
CHEMISTRY MCQs
1.When a magnesium ribbon is burnt in the air, the ash formed is
(a) Black
(b) White
(c) Yellow
(d) Pink
2.Which information is not conveyed by a balanced chemical equation?
(a) Physical states of reactants and products
(b) Symbols and formulae of all the substances involved in a particular
reaction
(c) Number of atoms/molecules of the reactants and products formed
(d) Whether a particular reaction is actually feasible or not
3.Chemically rust is
(a) hydrated ferrous oxide
(b) only ferric oxide
(c) hydrated ferric oxide
(d) none of these
4.When carbon dioxide is passed through lime water,
(a) Calcium hydroxide is formed
(b) A white precipitate of CaO is formed
(c) Lime water turns milky
(d) Color of lime water disappears.

SHORT QUESTIONS

5.Grapes hanging on the plant do not ferment, but after being plucked from
the plant can be fermented. Under what conditions do these grapes ferment?
Is it a chemical or a physical change?

6.A solution of potassium chloride, when mixed with silver nitrate solution,
an insoluble white substance is formed. Write the chemical reaction involved
and also mention the type of the chemical reaction?




7. Ferrous sulphate decomposes with the evolution of a gas having a
characteristic dour of burning sulphur. Write the chemical reaction involved
and identify the type of reaction.

8.Why do fireflies glow at night?

LONG QUESTIONS

9.Write the balanced chemical equations for the following reactions and
identify the type of reaction in each case.

(a)Nitrogen gas is treated with hydrogen gas in the presence of a catalyst at
773K to form ammonia gas.

(b )Sodium hydroxide solution is treated with acetic acid to form sodium
acetate and water.

(c) Ethanol is warmed with ethanoic acid to form ethyl acetate in the
presence of concentrated H2SOa.

(d) Ethene is burnt in the presence of oxygen to form carbon dioxide and
water and releases heat and light.

10. A substance X, an oxide of a group 2 element, is used intensively in the
cement industry. This element is present in bones also. On treatment with
water, it forms a solution which turns red litmus blue. Identify X and also
write the chemical reactions involved.

SST

McCQ

1. Choose the correctly matched pair from the following:

(a) Otto von Bismarck — Germany

(b) Napoleon — Spain

(c) Giuseppe Garibaldi — France

(d) Bourbon Kings — Italy

2. Fill in the blank by choosing the most appropriate option.

Sorrieu’s vision of society which is so idealistic that it is unlikely to exist
iscalled ....cccceeeeennnn.

(a) Utopian (b) Democratic (c) Absolutist

(d) Conservatist

3.Arrange the following in chronological order and choose the correct
option:

(1) Napoleonic wars (1) The Treaty of Vienna

(1) Greek Struggle for Independence (IV) Slav Nationalism in
Ottoman Empire

Options:




(@) (1), (1), (1y and (1v) — (b) (1), (11), (11) and (1V)

(c) (IV), (1), () and (1) (d) (1V), (1), (111) and (1)

4.Choose the correctly matched pairs about different forms of sharing
of power from the following options:

() Vertical Power sharing- UK

(I1) Horizontal Power sharing- India

(1) Federal Division of Power- Sri Lanka

Codes:

(a) (1) only (b) (1) only (c) (1) and (Il1) only (d)
(1), (11) and (1)

5.Which of the following concepts is most likely an example of power
sharing between genders?

(a) Vertical power sharing (b) Horizontal power
sharing
(c) Reservation of seats (d) Allocation of seats to

members in Rajya Sabha.

6.Fill in the blank by choosing the most appropriate option ...... elects
the community government in Belgium.

(a) People belonging to the respective linguistic communities.

(b) All the citizens of Belgium above 18 years of age.

(c) Belgium’s French citizens.

(d) Ministers of the central government of Belgium.

7. What is the relationship between development and equality?

a) They are contradictory concepts

b) Development can reduce inequalities

c¢) Equality is not a factor in development

d) Development is only about economic growth

8. What is the main goal of development for a landless agricultural
laborer?

a) To become a landowner

b) To increase the prices of their crops

c) To get more days of work

d) To have a pollution-free environment

9. What does HDI stand for?

a) High Development Index

b) Human Development Initiative

¢) Human Development Index

d) Human Development Instrument

10. Assertion (A): Resources are free gifts of nature.

Reason (R): Resources like soil, air, water are easily available in nature.
Mark the option which is most suitable:

(a) If both assertion and reason are true and reason is the correct
explanation of assertion.

(b) If both assertion and reason are true but reason is not the correct
explanation of assertion.

(c) If assertion is true but reason is false.




(d) If both assertion and reason are false.

SHORT ANSWER

1. What is Agenda 217 List its two principles.

2. In India, some regions are rich in certain types of resources but
deficient in some other answer with any three examples.

3. Enumerate any three features of “regur” soil.

4. Why is power sharing desirable? Explain one reason.

5. ‘One basic principle of democracy is that people are the source of all
political power.” Justify the statement.

6. Describe the ideology of liberalism during early 19th century.

7. ‘The Napoleonic Code was exported across the territories ruled by
France.” Highlight some features of the code.

8. How did the Greek War of Independence mobilise nationalist
feelings among the educated elite across Europe? Explain

9.What is the most common indicator for measuring economic
development of a country?

10. What do you mean by per capital income?

LONG ANSWER

1. Examine the major problems created as a result of the
indiscriminate utilization of natural resources. How can this situation
be averted?

2. Belgium and Sri Lanka dealt with power sharing in different ways?
Evaluate the reasons and result of this.

3. The Belgian Model of power sharing was better’. Support this
statement with three arguments.

4. Why were the 1830s years of great economic hardship in Europe?
5. How is the criterian used by the UNDP different from the World
bank for measuring the development of a country? Explain.

HINDI

MCQs
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Al/IT

. Explain non-verbal and visual communication and their importance.

. Identify different types of non-verbal communication.

. Explain the importance of feedback.

. Identify the common barriers to effective communication.

. List ways to overcome barriers to effective communication.

. Explain the usage of the different parts of speech.

. Explain the communication process along with all the communication
elements.
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8. List the advantages and disadvantages of verbal communication.

9. What are the 7 C's of communication ?

10. List the different types of verbal communication. Include examples for
each verbal communication type.




